CASH AND RECEIVABLES
	
	PROBLEM 7-2
	


	1.
	Sales
	$1,500,000

	
	Sales returns and allowances
	       70,000

	
	Net sales
	1,430,000

	
	Percentage
	          1 1/2%

	
	Bad debt expense
	$     21,450

	
	
	

	2.
	Accounts receivable
	$1,750,000

	
	Amounts estimated to be uncollectible
	  (180,000)

	
	Net realizable value
	$1,570,000

	
	
	

	3.
	Allowance for doubtful accounts 1/1/02
	$17,000

	
	Establishment of accounts written off in prior years
	8,000

	
	Customer accounts written off in 2002
	(30,000)

	
	Bad debt expense for 2002 ($2,100,000 X 3%)
	  63,000

	
	Allowance for doubtful accounts 12/31/02
	$58,000

	
	
	

	4.
	Bad debt expense for 2002
	$84,000

	
	Customer accounts written off as uncollectible during 2002
	 (24,000)

	
	Allowance for doubtful accounts balance 12/31/02
	$60,000

	
	
	

	
	Accounts receivable, net of allowance for doubtful accounts
	$   950,000

	
	Allowance for doubtful accounts balance 12/31/02
	       60,000

	
	Accounts receivable, before deducting allowance for doubtful accounts
	
$1,010,000

	
	
	

	5.
	Accounts receivable
	$410,000

	
	Percentage
	             3%

	
	Bad debt expense, before adjustment
	12,300

	
	Allowance for doubtful accounts (debit balance)
	    14,000

	
	Bad debt expense, as adjusted
	$  26,300

	
	PROBLEM 7-10
	


(a) The Accounts Receivable Aging Schedule, as of November 30, 2002, for Lynch Supply, using the age categories identified in the controller’s report, is presented below.

	Lynch Supply

	Accounts Receivable Aging Schedule

	November 30, 2002

	
	
	
	
	
	
	Uncollectible

	
Category
	
	Aging Ratios
	
	A/R Balances
	
	Percent-
ages
	
	
Amounts

	1-10 Days
	
	64.0%
	
	$   960,000
	
	  1.0
	
	$  9,600

	11-30 Days
	
	18.0  
	
	270,000
	
	  2.5
	
	6,750

	31-60 Days
	
	  8.0
	
	120,000
	
	  5.0
	
	6,000

	61-120 Days
	
	  5.0
	
	75,000
	
	20.0
	
	15,000

	121-180 Days
	
	  3.0
	
	45,000
	
	35.0
	
	15,750

	Over 180 Days
	
	  2.0
	
	       30,000
	
	80.0
	
	  24,000

	Totals
	
	
	
	$1,500,000
	
	
	
	$77,100


(b) The year-end adjustment necessary to bring Lynch Supply’s Allowance for Doubtful Accounts to the balance indicated by the aging analysis is $22,300, calculated as follows:

	
	Allowance for doubtful accounts, 12/1/01
	
	$  27,300

	
	Addition for bad debt accrual:
	
	

	
	   Credit sales X 4% ($8,000,000 x 4 %)
	
	320,000

	
	Sub-total
	
	347,300

	
	Less:  Current year write-offs
	
	  292,500

	
	Unadjusted allowance for doubtful
	
	

	
	   accounts, 11/30/02
	
	54,800

	
	
	
	

	
	Required adjustment ($77,100 – $54,800)
	
	    22,300

	
	Adjusted allowance for doubtful
	
	

	
	   accounts, 11/30/02
	
	$  77,100


PROBLEM 7-10 (Continued)

(c) The net realizable value of Lynch Supply’s accounts receivable at November 30, 2002 (ignoring any discounts that may be applicable to the accounts not yet due) is $1,422,900, calculated as follows:

	Accounts receivable balance, 11/30/02
	$1,500,000

	Less:  Allowance for doubtful accounts
	       77,100

	
	

	Net realizable accounts receivable
	$1,422,900


(d) When determinations are made that collections of outstanding accounts are highly unlikely, they are written off; however, collection efforts are continued. If a collection is made on a receivable that was previously written off, the procedure is first to reestablish the receivable by debiting Accounts Receivable and crediting the Allowance for Doubtful Accounts. An entry is then made to debit Cash is credit to the customer’s account for the amount received.

	
	PROBLEM 7-11
	


	(a)                                    Desrosiers Ltd.

	Long-Term Receivables Section of Balance Sheet

	December 31, 2003


	9% note receivable from sale of division,
	
	

	   due in annual instalments of $600,000 to
	
	

	   May 1, 2005, less current instalment
	$600,000
	(1)

	8% note receivable from officer, due Dec. 31,
	
	

	   2005, collateralized by 10,000 shares of
	
	

	   Desrosiers, Inc., common shares with a
	
	

	   fair value of $450,000
	400,000
	

	Zero-interest-bearing note from sale of patent, net of 12% imputed interest,
	
	

	   due April 1, 2005
	173,746
	(2)

	Instalment contract receivable, due in
	
	

	   annual instalments of $45,125 to July 1,
	
	

	   2007, less current instalment
	     110,275
	(3)

	      Total long-term receivables
	$1,284,021
	


	(b)                                      Desrosiers Ltd.

	Selected Balance Sheet Balances

	December 31, 2003


	Current portion of long-term receivables:
	
	

	Note receivable from sale of division
	$600,000
	(1)

	Instalment contract receivable
	    29,725
	(3)

	    Total current portion of long-term receivables
	$629,725
	

	
	
	

	Accrued interest receivable:
	
	

	Note receivable from sale of division
	72,000
	(4)

	Instalment contract receivable
	    7,700
	(5)

	     Total accrued interest receivable
	$79,700
	


PROBLEM 7-11 (Continued)

	(c)                                    Desrosiers Ltd.

	Interest Revenue from Long-Term Receivables

	For the Year Ended December 31, 2003

	Interest income:
	
	

	Note receivable from sale of division
	$126,000
	(6)

	Note receivable from sale of patent
	14,346
	(2)

	Note receivable from officer
	32,000
	(7)

	Instalment contract receivable from sale of land
	      7,700
	(5)

	  Total interest income for year ended 12/31/03
	$180,046
	


Explanation of Amounts

1.

	Long-term Portion of 9% Note Receivable at 12/31/03
	

	
Face amount, 5/1/02
	$1,800,000

	
Less instalment received 5/1/03
	    600,000

	
Balance, 12/31/03
	1,200,000

	
Less instalment due 5/1/04
	     600,000

	
Long-term portion, 12/31/03
	$   600,000


2.
	Zero-interest-bearing Note, Net of Imputed Interest at 12/31/03
	

	
Face amount 4/1/03
	$   200,000

	
Less imputed interest
	

	
   [$200,000 – ($200,000 X 0.797)]
	      40,600

	
Balance, 4/1/03
	159,400

	
Add interest earned to 12/31/03
	

	
   ($159,400 X 12% X 9/12)
	      14,346

	
Balance, 12/31/03
	$   173,746


PROBLEM 7-11 (Continued)

	3.
	Long-term Portion of Instalment Contract 
	

	
	   Receivable at 12/31/03
	

	
	
Contract selling price, 7/1/03
	$   200,000

	
	
Less down payment, 7/1/03
	      60,000

	
	
Balance, 12/31/03
	140,000

	
	
Less instalment due, 7/1/04
	

	
	
   [$45,125 – ($140,000 X 11%)]
	      29,725

	
	
Long-term portion, 12/31/03
	$   110,275


	4.
	Accrued Interest—Note Receivable, Sale of 
	

	
	   Division at 12/31/03
	

	
	
Interest accrued from 5/1 to 12/31/03
	

	
	
   ($1,200,000 X 9% X 8/12)
	$   72,000

	
	
	

	5.
	Accrued Interest—Instalment Contract at 12/31/03
	

	
	
Interest accrued from 7/1 to 12/31/03
	

	
	
   ($140,000 X 11% X 1/2)
	$     7,700

	
	
	

	6.
	Interest Revenue—Note Receivable, Sale of Division,

   for 2002
	

	
	
Interest earned from 1/1 to 5/1/2003
	

	
	
   ($1,800,000 X 9% X 4/12)
	$   54,000

	
	
Interest earned from 5/1 to 12/31/03
	

	
	
   ($1,200,000 X 9% X 8/12)
	     72,000

	
	
Interest income
	$ 126,000

	
	
	

	7.
	Interest Revenue—Note Receivable, Officer, for 2003
	

	
	
Interest earned 1/1/ to 12/31/03
	

	
	
   ($400,000 X 8%)
	$   32,000


	
	*PROBLEM 7-14
	


	(a)
	Petty Cash
	250.00
	

	
	
Cash
	
	250.00

	
	
	
	

	
	Postage Expense
	33.00
	

	
	Supplies
	75.00
	

	
	Accounts Receivable
	30.00
	

	
	Shipping Expense
	57.45
	

	
	Advertising Expense
	22.80
	

	
	Misc. Expense
	15.35
	

	
	
Cash
	
	233.60

	
	
	
	

	
	Petty Cash
	50.00
	

	
	
Cash
	
	50.00

	
	
	
	

	(b)
	Balances per bank:
	
	$6,522

	
	Add:
	
	

	
	
Cash on Hand
	246
	

	
	
Deposit in Transit
	3,000
	  3,246

	
	
	
	9,768

	
	Deduct Cheques outstanding
	
	    (550)

	
	
	
	$9,218

	
	
	
	

	
	Balance per books:
	
	$8,315

	
	Add:  Note Receivable
	
	930

	
	Deduct Service Charge
	
	      (27)

	
	
	
	$9,218

	
	
	
	

	
	Cash
	930
	

	
	
Note Receivable
	
	900

	
	
Interest Revenue
	
	30

	
	
	
	

	
	Office Expense – bank charges
	27
	

	
	
Cash
	
	27


(c)
$9,218 + $300 = $9,518.

CASE 7-9
The controller of Arkin Corp. cannot justify the manner in which the company has accounted for the transaction in terms of sound financial accounting principles.

Several problems are inherent in the sale of Rocketeer Enterprises shares to Campbell, Inc. First, the issue of whether an arm’s-length transaction has occurred may be raised. The controller stated that the shares have not been marketable for the past six years. Thus, the recognition of revenue is highly questionable in view of the limited market for the shares; i.e., has an exchange occurred?

Secondly, the collectibility of the note from Campbell is open to question. Campbell appears to have a liquidity problem due to its current cash squeeze. The lack of assurance about collectibility raises the question of whether revenue should be recognized.

Central to the transaction is the issue of imputed interest. If we assume that an arm’s-length exchange has taken place, then the zero-interest-bearing feature masks the question of whether a gain, no gain or loss, or a loss occurred.

For a gain to occur, the interest imputation must result in an interest rate of about 5% or less. To illustrate:

Present value of an annuity of $1 at 5% for 10 years = 7.72173; thus the present value of ten payments of $400,000 is $3,088,692. The cost of the investment is $3,000,000; thus, only an $88,692 gain is recognized at 5%.

Selecting a more realistic interest rate (in spite of the controller’s ill-founded statements about “no cost” money since he/she is ignoring the opportunity cost) of 8% finds the present value of the annuity of $400,000 for ten periods equal to $2,684,032 ($400,000 X 6.71008). In this case a loss of $315,968 must be recognized as illustrated by the following journal entry:

	Note Receivable
	4,000,000
	

	Loss on Disposal of Rocketeer Shares
	315,968
	

	          Investment in Rocketeer Shares
	
	3,000,000

	
Discount on Notes Receivable
	
	1,315,968


